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YO VER

YO OIR

TU LEER

YO MORIR

YO FREIR

USTED VER
USTED LEER
USTED MORIR
USTED ROMPER
USTEDES OIR
USTEDES PONER
USTED ESCRIBIR
USTEDES VOLVER
NOSOTROS ROMPER

Present perfect (irregular
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participles only)

YO LEER

YO ABRIR

YO PONER

TU OIR

TU HACER

YO VOLVER

USTED OIR

USTED PONER

TU ESCRIBIR
USTED FREIR
NOSOTROS PONER
VOSOTROS DECIR
VOSOTROS CUBRIR
USTEDES ESCRIBIR
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GLHMG
OHEOY
TAPTH
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M DOHDO
E I T ZR
HCSHN
HHETEA
OOUDH
EOP I A
THSCS
A A OHH
SMMOE
EPETFC
FNHMH
i OAHDO
HEHHH
TU VER

YO HACER

YO DECIR
YQROMPER
TQDECIR

TU ROMPER
USTED DECIR

USTEDES VER
USTED VOLVER
USTEDES LEER
VOSOTROS HACER
USTEDES ROMPER
VOSOTROS ROMPER
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